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Section A - MCQ

1) Which of the following is eight hundred and five thousand and thirteen in

numerals?
(1) 800 513
(2) 805013

)

)
(3) 805 130
(4) 850 013

2) What is the value of 36 000 + 407?

3) Find the value of 102 -24 + (3 + 1) x 2



4) At a birthday party, each child got to choose one ice-cream flavour.
The table below shows their choices.

Flavour Number of girls Number of boys Total n.umber of
children

Mango 22 18 20
Vanilla 34 20 52
Chocolate 17 35 52
Strawberry 36 24 60

Which flavour was the most popular among the children?

(1) Mango

(2) Vanilla

(3) Chocolate

(4) Strawberry

(

5) In a movie marathon guide shown below, movies are screened one after

another without any break in between.

Start Time Movie
9.00 a.m My Home
10.15a.m You Got It!
11.35a.m Time of My Life
12.20 p.m The Great Save
1.20 p.m -

Which movie has the longest duration?

(1) My Home

(2) You Got It!

(3) Time of My Life
(4) The Great Save



Section B — Short Answer Questions

6) Find the value of 4.1 + 50

Express your answer as a decimal.

Ans:

7) AC is the base of triangle ABC.
Name the height that is related to the given base of triangle ABC.

Ans:




8) Gear A makes 72 rotations in 6 minutes.
Gear B makes 81 rotations in 9 minutes.

(a) How many rotations will Gear A make in 1 minute?

Ans: (a)

(b) Which gear rotates at a slower rate?

Ans: (b) Gear

9) List all the common factors of 16 and 36.

Ans:




10) The bar graph below shows the number of cars sold from January to April.
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Find the average number of cars sold from January to April.

Ans:




11)The figure below is divided into 20 equal squares.

How many more such squares should be shaded so that 70% of the figure is
shaded?

Ans:



Section C — Problem Sums

12)Mr Chan had a sum of money at first. He gave E of it to his wife.

He gave Eof the remainder to his two children.

Each child received the same amount of money. Mr Chan saved the rest of
his money. He saved $378. How much did Mr Chan give to each of his

children?

Ans: [3]
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